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NYUGATI HOMLOKZAT

F1=86,86 m2
L1=17,80 m

Homlokzatmagassag: F/L=86,86m2/17,80m=4,88 m

KELETI HOMLOKZAT M=1:100
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KELETI HOMLOKZAT

F6+F7+F8x2+F9=48,95m2+11,93m2+4,13x2m2+1,16m2=70,30 m2
L1x2+L8x2+L9=17,80x2m+4,00x2m+0,58m=44,18 m

Homlokzatmagassag: F/L=70,30 m2/44,18 m=1,59 m
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EPULETMAGASSAG: ZF/ L

NYUGATI HOMLOKZAT >F= 86,86 m2
ESZAKI HOMLOKZAT 3F= 66,73 m2
KELETI HOMLOKZAT >F= 70,30 m2
DELI HOMLOKZAT 3F= 63,75 m2

NYUGATI HOMLOKZAT >L= 17,80 m
ESZAKI HOMLOKZAT 3L=19,85m
KELETI HOMLOKZAT >L= 44,18 m
DELI HOMLOKZAT $L=19,85 m
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ESZAKI HOMLOKZAT
F2+F3+F4+F5x2=50,36m2+7,37m2+5,40m2+1,80x2m2=66,73 m2
L2+L3+L4+L5x2=10,32m+2,03m+2,50m+2,50x2m=19,85 m
Homlokzatmagassag: F/L=66,73m2/19,85m=3,36 m
DELI HOMLOKZAT M=1:100
% N "
< F10=55,85m2, "

H1=

L10=12,35

-

2F=86,86m2+66,73m2+70,30m2+63,75m2=287,64 m2
ZL=17,80m+19,85m+44,18m+19,85m= 101,68 m

HOMLOKZATMAGASSAG: IF/ IL = 287,64 m2 /101,68 m = 2,83 m

L4,15,112=2,50
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DELI HOMLOKZAT

F10+F11+F5+F12=55,85m2+2,35m2+1,80m2+3,75m2=63,75 m2
L10+L4+L5+L12=12,35m+2,50x3m=19,85 m

Homlokzatmagassag: F/L=63,75 m2/19,85 m=3,21 m

EPITTETO: SZEREP KOZSEG ONKORMANYZATA

4163. SZEREP NAGY UT 53.
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